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EXIEAE BERESTOBERLAR SRS %g SR %g 2&
Q EEVMOERERE
Q. EREE 0.40 5 2.4
1 HEiE 1.8 0.15 1.00 2.1
11 EREFLAIL 1.0 0.40 0.40
1.2 ESF 3.0 0.40 0.40
1 |BDEES R 3.0 1.00 0.30
2 |REREEMEE - - 0.30
3 |RREFHE@EEHEER) 0.20
4 | RRESHEEEEER = 0.20
1.3 ®E 1.0 0.20 0.20
2 REE 1.7 0.35 1.00 1.6
2.1 EBHIE 2.5 0.50 0.50
1 |=8 3.0 0.38 0.57
2 | ERIERE 1.0 0.25 0.43
3 [V Rl 3.0 0.38 s
2.2 JREEHH 1.0 0.20 0.20
2.3 ZZHRAK 1.0 0.30 0.30
3 h-BRERE 3.0 0.25 1.00 3.0
3.1 BAFIA 4.2 0.30 0.30
1 |[BaE BE=25%E BE=125%Lt 5.0 0.60 0.60
2 |[AfrRIEAO = 5
3 |BAeF ARE 3.0 0.40 3.0 0.40
3.2 JL7xtE 2.0 0.30 3.0 0.30
[ 1 [Bsesim 20 | 200 [ 30 | 100
3.3 BE 3.0 0.15 1.0 0.15
3.4 BREAHIH 3.0 0.25 3.0 0.25
4 ZRERE 3.1 0.25 2.7 1.00 2.9
41 HERXE 3.0 0.50 3.0 0.63
[ 1 [exszns 30 | 100 [ 30 | 1.00
42 K 2.0 0.30 2.3 0.38
1 |BaRE 3.0 0.50 3.0 0.33
2 | BRBKEEE - 3.0 0.33
3 [MYANSNTA~DEE 1.0 0.50 1.0 0.33
43 EREHE 50 | 0.20
1 [co,mEER 2
2 |eRiE S5 ELE2EROREENERIN TS 5.0 1.00
Q2 Y—ERMEE = 0.30 - - 2.5
1 #RETE 2.8 0.40 1.6 1.00 2.2
1.1 #EEME-ELVdgE 3.0 0.40 1.0 0.60
1 |[EE- RSt 1.0 1.00
2 |EEBREERERT - s
3 _|N\UFTY—&tE 3.0 1.00 =
1.2 DEME- BN 1.0 | 030 25 | 040
1 |[GERE-58 BEOXHAEE:2.55m 2.0 0.50
2 |[UoLyLazR—x = 5
3 |REEE 1.0 1.00 1.0 0.50
1.3 #HiBFEE 45 0.30 =
1 |#HEERICERELE-HRE MYMAENTZLTIEEHRIELEL L THD 4.0 0.50
2 |MEEIERREEDRER FELTRYHEAITENTRETHEERLITHON TS 5.0 0.50
2 MAK-BEE 2.8 0.30 2.8
2.1 WE-RE-HE- flik 3.0 0.50
1 |HEEGEYD OIS 3.0 0.80
2 |RE-HIE- SRR 3.0 0.20
2.2 B - B4 Ot AE 3.0 0.30
1|5 AH R O A ES 3.0 0.20
2 [SEHEFHOBELERR 2.0 0.20
3 [EERELEFHOEHLERR 3.0 0.10
4 |ZEHBREKFILOBEHLEMRB 3.0 0.10
5 |ZF-HREKEEOEHLERR |TEGRELA3ED., 28U EICCULEEFER 4.0 0.20
6 |TERHERFOEFLERR 3.0 0.20
24 (S5 2.2 0.20
1| ZEER - Rk E 1.0 0.20
2 |#aHEK- BRI 3.0 0.20
3 |EREm 3.0 0.20
4 |#W-EEXEAE 3.0 0.20
5 |BIE-1EHREE 1.0 0.20
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3 xSt -EEE 3.0 0.30 1.00 2.6
3.1 ZERpEY - - 0.50
1 |EEopLyY 0.60
2 | ZHoBK-BHS 0.40
3.2 WEOWPLEY - - 0.50
3.3 RiEDEHMH 3.0 1.00 5
1 |ZREREDEHNE 3.0 0.20
2 |HEHEKEDEHM 3.0 0.20
3 |EREBROEHME 3.0 0.10
4 |BIEERROFEHE 3.0 0.10
5 [ERiEHESEOEHM 3.0 0.20
6 |\ HGTYTAR—RDTER 3.0 0.20 o
Q3 =SMEE (BUbkR) — 0.30 _ 2.1
1 EPBRRORE AN 1.0 0.30 = 1.0
2 FELEA-EB~NOERER 3.0 0.40 = 3.0
3 Mgtk -PA=TI~DEE 2.0 0.30 = 2.0
3.1 ihigitE~ DORE. REED R L 2.0 0.50 =
3.2 B NEFREDO R L 2.0 0.50
LR EEMORBERERYE :
LRl TR)LF— = 0.40 5 - 3.2
1 BV EOBARIG L ~)L5:BPI=0.80 0.20 = 5.0
2 BRI RILX—FIH 0.10 5 3.0
3 B RATLADEDELE [BEI[BEIm]:  0.86 0.50 = 2.7
4 HEMER 0.20 = 3.0
£ E&EEUSNDOFFHE 1.00
41 |E=H)VT 0.50
42 |EREEE 0.50
£S5 EEDHE -
IR E=DPZ)
4.2 |ERAEEAS ' 2
LR2 ER-RTUTFI = 0.30 5 - 2.7
1 KERRE 3.0 0.20 = 3.0
1.1 8K 3.0 0.40 =
1.2 FKFA-#EKEDOF A 3.0 0.60
1 |FRKFASRATLEADEE 3.0 0.70
2 |[HMHKEFROATLEANEE 3.0 0.30 -
2 FEEMEROERAIHIR 2.6 0.60 5 2.6
2.1 MEHERZEDHIR 2.0 0.10 5
2.2 BEEEFARZEDOHGER 3.0 0.20
2.3 FERMBIZEFRIHAIILHDOER |- 3.0 0.20
2.4 BEMELUNMBTD) AL HOER]|— 1.0 0.20
25 HEagehHmo oEHSh - K# 2.0 0.10
2.6 S OBFRETEEMER EADOREA |FHETIMYBAEIRAUIUERBLTNDS 4.0 0.20 s
3 EEMEESEMHEOERE 3.0 0.20 = 3.0
3.1 AEYEZEFLHLHHOER 3.0 0.30 =
3.2 7O -\arO[EE 3.0 0.70
1 HH - -
2 Ak (MEME) 3.0 0.50
3 |A4E 3.0 0.50 s
LR3 Bhith i} IR 5% . — 1 030 - 2.6
1 MERREE~ORE AIREAIRY CO20D HE L B 2 1B 34 | 033 : 34
2 HIREIE~DEE 2.5 0.33 = 25
21 KSHLMHLE RRFEDARGHERHY . BEITHRAERHY 40 | 025 °
2.2 BEREBLORE 2.0 0.50
2.3 g A2 IS5~ D E RN 2.2 0.25
1 |FKEEKERHER 3.0 0.25
2 [FBEKAEA R 3.0 0.25
3 [EEFIH 1.0 0.25
4 |BEEYNEEFIDG 2.0 0.25 .
3 FBE~DER 2.0 0.33 = 2.0
3.1 BE-R-EXOMLE 1.0 0.40 =
1 |BE 1.0 1.00
2 [IREn - -
3 |BR . N
3.2 AE. WE. HREZEDIMH 3.3 0.40
1 |REDHI] 3.0 0.70
2 |REDIF -
3 |RmBEZEOMNE ARERA/2 5B5FE D B 2K Z =L T LV D 4.0 0.30
3.3 AE DI 1.6 0.20
1 BARARVEARBOSENBIDEADR R 1.0 0.70
2 BAORYNEICIDRIK (TLT)~DRE 3.0 0.30
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